1250 Exam #3 Prob 3c¢ solution U

Ex: A circuit, truth table, and timing diagram are shown below. Fill in the missing

waveform for Q in the timing diagram. Draw your answer directly on the timing

diagram.
PRE CLR CLK J K Q Q MODE
0 1 X X X 1 0  Preset
1 0 X X X 0 1 Clear
A 1 PRE O Q 0 0 X X X - - not used
T 0 0 Q Q Hod
CLK > CLK T 0 1 0 1 Reset
B K CLR Q T 1 0 1 0 Set
T 1 1 T 1 1 Q Q Toggle
1 1 notT X X Q Q Hold
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SOL'N:  When A and B are high, the Q output toggles on the next positive edge of
the clock. When A goes low, the Q output is immediately Preset to high.
When B goes low, the Q output is immediately Cleared to low.
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